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ANSWERS / RUBRICS

Question No: 11

a )_Write a word equation of sugar formation. (2 Marks)
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Rubrics: Award two marks for correct equation.
Model answer:
Carbon + Hydrogen + Oxygen — Sugar

Write the uses of the following metals. (4 Marks)
1. Iron, 2. Copper, 3. Aluminium, 4. Sodium
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Rubrics: Award one mark for each correct use. _q;/%ﬂ KJL**‘lc//;/z:J/,u
Model answer: :*,ﬁg‘g’/
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Metal J‘f Uses =il
Iren oA It is used 1o make machines, weapons and hardware tools
Copper ¥ It iz uzed 1o make electric wires
Aluminium =5 g It isuzed in autcmobiles, airerafis and beverage cans
& Em =il L ;‘_:'.- e FLerdT_
Sodium i It iz nzed in sodivm vapour lamps fior sireet lightening
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Write any four uses of compounds. (4 Marks)

www.Schoolbasedassessment.pk (4)_ﬂ_~,uw~utgc_éf£mg


https://pecassessment.com/admin/pilot_items/pilot_view_combine/25637

Rubrics: Award one mark for each correct use.
Model answer: 1. Water is a compound consisting of hydrogen
and oxygen. It is used for drinking, it is used for photosynthesis in
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plants, it is used for washing clothes, and it is also used as a USUn g L,,_g%u/gﬂy/u{%nu}ui’l,'&t (EY{ iy
solvent for different solutions. _at'fJLWiiLa.bu”ﬂr(u»h/"/w!a_:"’:(_/ itJSs
2. Carbon dioxide is a gaseous compound of carbon and oxygen. Ljialzgia,ﬁflgy,,-c.uu/gfrl K Wdl;u/t{_
It is an important part of the air and is used by plants for making

food. g el Lo 8

3. Sodium chloride is a compound of sodium and chlorine known K‘LJG/V~~LWV(~Q(V&L%‘I~(’ J/%/"(j”j‘/’/’gﬁ” 3
as common salt. It is an important part of our food. People use it _U‘L/JL"*“’&LL/’/L}Q{)((’/)JWJ}|LFL’J}J-L~J7(|ua
to preserve fish pickles, etc. RV 1 //)bdlf'/djl. aﬂﬁ‘,{gfri 2l b (u,./ u/;’/b/(f{;.A
4. Calcium carb?nate i.sacompound ofcalf:ium,ca.rbon,ar.wd _Lt‘ﬁJWIQ_Lﬂu»;/uc;_«/./:l/:’)d/u:/‘ia
oxygen. Marble is calcium carbonate chemically, It is used in - v . s ="
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building homes and for many other purposes.

5. Sugar: Glucose, fructose, sucrose, and many other sugars are -¢,«=7('IJKJ/;’L5/[:'/)/ u*/,uu/

the compounds of carbon, hydrogen, and oxygen. Sugars are a d,,L,JW,JJM,,/J,M,_,_LMM,/J,M ool I u@’d, 6

very important part of our food. LL"lalfUl.Wi/ubL..Cui£¢b L
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6. Polythene: is a compound of carbon and hydrogen. It is used
as plastic for making different items used in daily life.
Question No: 12
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a ) Write any two common properties of mixtures. (2 Marks)

Rubrics: Award one mark for each correct property.

Model answer: 1. No chemical reaction takes place during the _q,/vggwﬁwj,ﬂ;bf4,/
formation of a mixture. -mufﬂ@ﬁ&/w»i&é;{.l:b,u%é_/
2. The constituents of a mixture do not lose their original . , . .
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properties. Cﬁ - U/}(
3. Substances in a mixture can be mixed in any proportion. - l?.L.L"C’—v“L"Up'{ ”LJ:ZI'-{'J
4, The contents of a mixture can be separated by simple physical _c‘_Cﬁlg%ﬁyc_u;@}u’?&uVﬁlmﬁng
methods.
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Write any two differences between steel and brass. (4 Marks)
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Rubrics: Award two marks for each correct difference.
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Model answer: Steel: 1. Steel is an alloy of iron containing 20% L S)/wu/; ] /'”.
carbon.2. Itis hard and strong as compared to iron. 3. Stainless L‘L’Jd'z‘ﬁ;t'”@/gézou:‘/?““wVQK‘L’U{'-1:b."’?g¢’{

steel is an alloy of iron, chromium, and nickel. It is very strong c//.,:-‘LLwKdé/;i(f;/ctaidfwgwﬁ-‘abﬁ”mc}“u.f.Ll.‘a’A
and does not rust. _t‘nuj()}JTjj/}"LL}:Z/

Brass: 1. Brass is an alloy of copper and zinc. 2. It is used to make SR I A e L WKl
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pipes, nozzles, and jewelry. 3. German silver is an alloy of copper, ; .

Describe the method of chromatography. (4 Marks)
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Rubrics: Award four marks for correct answer.

Model answer: Chromatography is a technique used for the -Q;//lgzi..,lﬁwn:hf/,u

separation of coloured components of a mixture. In this method, iLé_/ﬂﬂ’Z’/’)Liﬁ(}?Lﬂuﬂ&’j;{)/(:u‘ﬁgé_/

different solutes are dissolved in the same solvent as ) N S -
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components of the mixture. When the solution is made to move

on chromatographic paper or some other stationary phase, the waf/ﬁd/:w’"‘f(/ J/’M’//‘/’J’/“) u*Z_yJ’/ub

dissolved components move on the paper along with the solvent AU J’Z-/J/Y// ﬁ’VLJM!J}’/C/J";f’f’DM«f!"L

at different rates. In this way, the coloured components become _wLbﬂum4/“,f{o;lZl/l)
separated on the paper.
Question No: 13

a ) How two bulbs can be attached in series and parallel electric circuits? Draw their circuit diagrams. (6 Marks)
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Rubrics: Award one mark for the correct answer of each electric circuit J&J//J/ba’/’/)'u(’bﬁKV'YMJ)CCJ/J;G'/"J/)J
-4l LIkl ¥l e s

and two marks for each correct diagram.
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Model answer: In a series circuit, two bulbs are connected one after the 'Q:’/’/”Up/éfu/&”“”
other across a source. Lne e AL ol d L hn heS ry i 26 s

In a parallel electric circuit, two bulbs are connected independently
across the source.

-
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Parallel Circuit
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(v)

Series Circuit

What are the effects of the following on the brightness of the bulb? (4 Marks)
i. The length of the wire

ii. Thickness of the wire

iii. Number of batteries

iv. Number of bulbs
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Rubrics: Award one mark for each correct answer.

Model answer: i. The length of wire: An increase in the length of _u:;/..{l K/“lw»/;:_f/,u
the wire will decrease the brightness of the bulb. _JL(”{[_,Q S it QUE AU s 265

i. Thi.ckness.ofthe wi.re: The bl.Jle glow brighter with thick wire -ujZ_n(”,«.:,/b‘&nlujguwc;zb'érv&:éﬁ’r i
and will be dimmer with thin wire. PR ’ A L. L
iii. Number of batteries: Brightness will increase by increasing Kk p e Ll P Uy Fol P Ui
the number of batteries. -Zuﬂwﬂ»QcLiﬁuﬁzﬁfuzMﬁ‘fuﬁ-iv
iv. Number of bulbs: The bulb will be dimmer if bulbs are

attached in series. www.Schoolbasedassessment.pk

Name any five materials required to assemble a tripwire security alarm. (5 Marks)

(5)-@)%&(3&:2’./57égc‘,é}cgu“iéd‘.&(/wé/{g/}bb;/b

Rubrics: Award one mark for each correct name of the material. A g”bZ:J“/f?M/)/;:J/,)J
Model answer: Electronic buzzer, lithium battery, adhesive pads, /"quu.,@""de’ui,{l¢&L!,£w‘d/{{.(ffuz,6/"?|:%,iggg_/
a twist tie, fishing line, copper tape, etc. ‘%;}%;

A

Wan

Visite Official Website www.Schoolbasedassessment.pk









